Antwoorden woordwinst Il oefening 11 en 12

11A.

de dynastie
dominant

het domein
dynamisch
eenduidig
het duplicaat
egaal
duurzaam

. de drogreden
10.de eclips
11.de draagkracht
12.dwepen
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duplicaat
eclips
dweepte
drogreden
dynastie
duurzaam
dominante
egaal

. domein
10.draagkracht
11. dynamische
12.eenduidige

12A.

de episode
de eruptie
elimineren
escaleren
energiek
erkentelijk
het ego

de erfgenaam
. egocentrisch
10.elementair
11.elitair

12.de erosie
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12B.

erkentelijk
episode
eruptie
egocentrische
elimineren
energiek
erfgenaam
erosie

. €ego
10.elementaire
11. escaleren
12.elitaire
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